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ERBXZ EXERKF BRXF AEKF RAXF AMKEF BoR /R KRR /EE JEfL
ERBAY * 010 A1-1 x1-6 4 3 7 4 4
EXERKF x 0-1 * x0-1 x0-3 0 0 5 -5 6
BBKE 010 * x1-3 x 0-3 3 2 6 -4 5
RHKE A1 031 * x1-3 4 5 5 0 3
BAXE O30 O3-1 * O2-1 9 8 2 6 1
AMKE O6-1 03-0 x 12 * 6 10 3 7 2
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=AY * * 0-3(F#EK) x1-6 0 1 9 -8 3
3) ExERAE | O3-0(FHH) * 020 6 5 0 5 1
(5) ABRKE O6-1 x0-2 * 3 6 3 3 2
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BREXE | EXERAE | BEXZ RDKRZE BEAKZE AMKZE 227 &5 KR /R= IR 45z
EREKRZ * O1-0 A 141 3/26 B@
ERERKE x 0-1 * 3/26 AQ x 0-3
BEAZE 3/26 AQ * x 1-3 x 0-3
ADKRZE A 11 O 31 * 3/26 AD
BRAXRE 030 3/26 A® * O 21
R K= 3/26 B@ 030 x1-2 *




